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QUESTION 1

Which method would be used on the Merge node in order to combine a file containing 100 products and a file containing
50 suppliers and retain only the matching records? 

A. Inner join 

B. Anti-join 

C. Full outer join 

D. Partial outer join 

Correct Answer: A 

 

QUESTION 2

Auto checking for invalid values can be done on the Type tab in any Source node. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

Given the information below, which node would be used to produce the correlation statistic between the fields off
peak_calls and weekend_calls? 

A. Matrix node 

B. Statistics node 

C. Histogram node 

D. Means node 
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Correct Answer: B 

 

QUESTION 4

System undefined values ($null$) are automatically defined as blank (missing) values in IBM SPSS Modeler. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 5

In the stream below, the CHAID node and Neural Net node can be combined in a single Super node. 

A. True 

B. False 

Correct Answer: B 
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